GRE20020 600 OO0 OO0 PDFOOOOOOOOOOO

Oo0Qo0Qo0Do0oO0O
https://www.100test.com/kao_ti2020/124/2021 2022 GRE2002_E5
B9 B4 c86 124337.htm========00 0 0 0 0 0 ========

Jododobooooood o000 30d?220*10%0 21203
[ **0 1/20 >2 0 300 **0 1/20 3.0 1 900 measurmentd 4.3°50
[0 67255.0 0O O **0 O 360feet 6.1 I 0 I 0O O O O 03000
7.each equals to 2/150 [1 nJ 3000 UJ [J
8.A78(93)B(73)89C73839D7839E73893 9.1/711 15/701 22/711 29/7
O3e/710000000ROSOTII6O0H0OOOMO 12001
0-2030 00 18.00000
14.([1/()N(-6)>™N1/2)N1/2)=2*2~N1/2) 15.0 0 00000 0
JOo000 070000000000 17.20 x0J O >100 1501
[1 18.3.3330J 30J [0 proximateto 19.A6B6C6D6EG6F 6 20.0
0400000 21.0510-500 O /0500 -490 O =22.0 0 O O
000223.00125000040%0 0 24000000 25.00
00000 26.2M2n 1)-2°2n=271000 27.57*577°2*5773
O5772730 2800 0000000004200 200000
0 O 30.n0 integerd 2Mn>10M5,0n0 0 3100000000
Jo03000100000 B3.00000o00ouod 4.0
Jododopsododoobooooooooooooo
03007000000 37.038.00000000000
0000000000 3rootd U 0O O 3 power 40. p*(1-p)
0.4which is great. 41. 90 digits(J [0 J [0 5000 J 00 5000 OO O 42.98
[0 3% 046 6% 0 =0 43. 0 Osetld RO SO O 50 OO 44.00
O60 70inclusivelyD 0 D 000000400000 45.00-9



Do000o00oooooooouoodood 46.767/763
[1896/892 0 I 0 47.0 0 0O 0O T M 48. 555###2201 1 701 [
ANs50008000000000000O08O00000O000
OO00000050.000000 Demoticl] 4*[]

[1 conservertiveld] 5*% 51.2*(1 1/00 270.5/(27°0.5 1) [0 I 2 2°0.5
000 52,10 -10 200 -20 300 -3 53.00 0 O [0 27 30 35 45 54,
1072*%127°M4*1876 0 O O O O 55, 3*1/2*1/120 0O 0O O O O 8*40
0 56.3y(2y-5)=057.0 0 010 0 O 0O O00.07$/0 58.0 OO [
Omedian 7959.0 0 0 0O 0O OO O 60.2M=10M15
61.2\n,00 107M2*127M4*18760 O O 0O O 62,50 0 0 O 82 63.00 O
D000 6401220 000/7100 (121)040 O /1065.0 O O
OO0O000000 66.0 0150 2500 3500 x,y,z0 meand 60 67.01
Do000o00oodes.olnn 69.Nis1-10000 00O O 70.00
000 71.00690 680 /800680 720 U OO OO 73.0000 745
DoodedOdl10o0oog 700000 76.A070 0
OO0 0O0A0DIOOOBOO20 770000000
B2U0nbddOogloO000 vvxOoooooooooooao
0 O 80.0J OO O 81.class I mean score 78 82.01 I I I [ [
[1f(n)83.00850 0900 OO O OO OO 10% 84.(-3)™0, 3™ (-3),
20000000 o0o 8s.00nods510000 0 86.50T
OO0O00000 87. ABL 0O 88. class I mean score 78, class |1
mean score 7289.00 0 0 O O O O f(n) 90.0J 8500 J 9001 J O [
000 010%91.(-3)M0, 3N-3), (320 0o oodo
(1 92.x,yUI positive interger 2940x=y”2 93.767/7631 896/892 (1 [
o480 ouosuuodoouonn es.odn
5100000 9%.SO0TUUOOOOOO OOOO 100000



[1 2x0 3x 2.k=even p(k)=p(k-1) 3.7(r t)**2 =x**2,0 (t,r) 0 U O
0O 4.0 0 0O O (429-x)/y 5.7 positive even number: 6.1 [ [

[0 M,mlm2,.....5,51,52.......... M 7.a1=1,a2=4 8.y 2/y,[] y[1 1234567
00O 9.0y 5060 110 1200 15 10.f=m0 m 100 /2 11.A1=3

0 An=A(n-1) 12.a*b=ab 11 (ab)*b 13.m1,m2,m3,m4,0 00 [J O [
Do0d20 4mOMOOOOOOINOOOD 20 O 20 00 15.
Al1=0,An=1/2An-1416. J OO 0 15,25,35,x,y,z 17. [(x D (1/2)
XNA/2)>/[(x DNL/2)-x™N(1/2)> 2x 1 18.(4/2)(5/3) (6/4) (7/5)...[(y
2)/y> =12 19.X differs from 60,000 by less than ten percent.
20.2940x=y"2,01 x0 O 0O 0O 0O 21.00 O O OO m&amp.r=1/m 1/r(]
OO00000000 22. xis positive integer, U1 0 0 0O [ 23.0
O 0O O f(a)=2x"2 1,ask:f(ab) f(a)*f(b) 24. x*x y*y=5*5 [ 1 [J [
25.a1=1,a2=2,n>2,an=(an-1/an-2)2(J [0 ) a6=1 26.90 measures, X,y
56,11,12,1527.xyz0 0 0 0 O 0O O O O ,xy=12 28.the value of
P(X) is the greatest integer less or equal tox 29.nJ 0 OO OO O OO OO [
O 00OkOS0 0000 30.(4/2)(5/3)(6/4)(7/5)...(y 2/y)=12 (I y=
[0 31. 1/k=1/t 1/v0] 0 k 32. 3X-2=1,00 O 5/X[J X/533. 11 -2[1 3
[ -40 50 -6...... 34.0 O Ak=1/k - 1/(k 1) 35.00 0 1,2,4,500 0O O
[11,2,3,50 00O 36.3y(2y-5)=037.0 0 010 0 O O O 0.07$/0
38.00 O Ak=1/k - 1/(k 1) 39.2n=10"150 1 n 40.A(4,a)J B(0,b)
(I lie onthe x™2 y™2=4901 [0 I 41.the unit digit of x is 7,and the
tens digit of x-9=3 42.-343.044.2" x>10" 150 [J 00 3000 4000 60
O750x0 000 45.9(x)=3 (x-1),0g(xDUg(x)t 0000
Jod0o00odododod4e.0FrO0XOo=XoUOOoO1d00OF
OXOOOOFDXOODOO 47.xM2
y~2=49,A(4,a),B(0,b),a>0,b48.1711 18)f(x)=0 U O xOJ O O O O



O 49.f(n) =(-HUnO 0O 0O Ocen f(H)U f(2)U f(3) O 0O 0O O O
[ 0O 0200 50.x,y0 O 000 O O O 51.7x 7y 52.555.f(x,y)=1/x
1/y 56.a(1)=2 a(n)=a(n-1) n 57.x>0,J |20-x|58.00 300 451 6001 70
JododondosS/00000000000 60.000
00 0Oa@b=abbx61.000000fx)UODOOOOxOO O
00 62001-12-2..63n0000Oan=n.n 0 0O O
[Jan=-(n-1).0al6al764n0 0 00 00OO0OOOOkOS0 O
OO0 esUodndodnx*ty=2xye6.0011-12-2....00 0
O=(n1)/20 OO0 0O=-n/267.n0 000 Oan=n.nJ 00O
[Jan=-(n-1).00al6al7 68.x1yl 100 69.0 O O U O O f(x)00 O
Jdodoxodooornooooooooooooox
cents, 1 0 OO0 OOOOOycents. 71.0 0O O O 0O O O x*y=2x
y, 0 0O (x*y)*zO x*(y*2) 0 0 0O 720 0 0 0 0O 10 -10 200 -200 3
0300 Q3Uiuouououononoooana 74,
y(y-5)=00 Uy O dooi1o0ooo 7. 12nd00don
do0odokos00o00oooooigoooooon 2
Do0LklODOO0O1020 3.00L0 000040 30 0 30 20
A0 00000 ooooosogoogsoouooodn
oddoooodoododedtnn3x2y=67.0 00
oodoodoouo sABCDUO O . O0Uoudo
Jriocdodooodliuooooooooooood
U0 120000000000030s0 713000000t
01240000 1400000001Yn(n>1)15.000000
Jododododoledoooooooooooug
o0 lrgogsgogogououooooooooxXxgy
01800000000 Osloped 0100000 19.0000



Jsddo200000000000000000O000
002000000000 22.00000ABCOOABCOO
OO0 0ACDOG600 23.0 0000 O 0O O arm,ask hepunuse

[ slope 24.a right tyiangle inscribe a circle 25.right triangle area is
36,ask heponuse and 12 whichisgreat26.0 O O O O OO0 O O
Do0o0oo 27.000ABCDOAB//CDU O O 03528 U [
Jododododououogisoouo 2.00000
Jod0odododouoUuond 30.0000 0 y=ax b,y=cx
dMd)3l.00000000 3200000 33.00000
Ok30OOd1do0 00 34.ImnO000000OAODOOkK/
SB.OO00ABCUOUOOUOOUOOODOODO 30000000
OO00y=2x-x237.0 00000000000 3800000
Jdododododod3osaodoedod 0.000000
O4x 104000 0000k30 00100000 41Im,n0 0O 0O
OO00O0OA4L2000ABCOOOO 4000000
Oy=2x-x244.0000000004.0000000000
Jodooo3dsgodedog e 0o ooon
Jodo47000000000000048.00001030
[0 0O 0O 0O O 6 49.a pentagon has four angles 50.01 I [0 I [0 ABC,[
OABO 100510 000000000 0OO0OO0OO0ODOO0O
0520000030 000000e601001553.0000010
Jo0@2auuouoEysxMoio0ouoss.0odo10d1l
0002020 00 pendula( 0O)0O slope 0 10 O 0O 56.00 O
Jo0dledods7.00058.00000000001059.0
Jodododododououeooooooouo
6l.00square, 0000000 620 0YDO O OO 50X 0O



00O 10000 63.0 OxM2yn™2=490 0 O 64.0 O A ABCO [
[12865.00 O xy=10,00 O O OO M={-4/3,-1/3,-1,0,1/2,2} 66.00 ALl
Jodooolsooooer.0oonoondn e8.0d koI
DO00000 e69.03XO2y0120000000 70.0 O xN2
yA2=490 O O 71.0 O diameterd 2meter 72.00 1 A ABCL I
02873.00Lxy=1074.0 00000050 005000000
Dodos00do7ndAlddonooosouod 76.0
Jododododoz200001100Testl OO0 Oo0O
Jododododododod www.100test.com



